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משפט  חפיפה  שני – ז.צ.ז.
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במרובע  ABCD,  AC  חוצה  את  הזוויות  A 
[image: image1.wmf]S

  ואת  C
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.  
הוכח  א. AD = AB   ב.  CD = CB

· נתון:  ____ = ____
          ____ = ____
· צ.ל.:  א.  ____ = ____
          ב.   ____ = ____
· הוכחה:  _____ = A1
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                 _________
[image: image10.wmf]                        _____ = ____                  _________
                       ______ = C1
[image: image4.wmf]S

                __________
                      ______ (  ______            _._._.
                     ____ = ____  (                _______________________________
                     ____ = ____  (                _______________________________  _._._.
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2. במשולש  ABC  נתון:  AB =AC,  C1  
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B1 =  
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.  הוכח:  BE = CD.

· נתון:  ____ = ____
          ____ = ____
· צ.ל.:    ____ = ____
· הוכחה:  _____ = A
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                        _____ = ____                  _________
                       ______ = C1
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                __________
                      ______ (  ______            _._._.
                     ____ = ____  (                _______________________________  _._._.

עבודה  נעימה
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